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(1) [$17$27"' 7xn} — [xnax%"' 7$1]7

(2) [$1,$2,"° 71"774} = [$1,$%,"' 7xg]7

(3) [.’L‘l,.’I}Q,"’ 7xn} — [xlvxl +$27”' ;L1 +.T2++l'n}
2. WH

(1) SRFAREIR R 55 e I R AL 25 IR B — 213, I FLS M 4 20
fift.
r1 — 3z + dxy — 2x4 + x5 = 0,
—2x1 + 29 — 3x3 + x4 — 425 =0,
—x1 — Txo + 923 — 4x4 — D5 = 0,
3x1 — 14xs 4+ 2223 — 924 + x5 = 0.

(2) KT R _EARFFIREAE T FEAL ) A B

Ty + 2x9 — 313 — 41y = -5,
3x1 — a9 + dx3 + 624 = -1,
=511 —3x9 + 23+ 224 =11,
—9x, — 4z — 23 =17.

3. W A e R, JEHLL A R RBGEREI)FIRENM T REA i8] Vy [EE
JEH 3 DNHEAL, K rank(A). 17:V, FI4EEATRER 1 197

4. UEAH:

(1) FEREIN—A7, MRk ek AL s 10 1;

(2) #HiFE A e R™™ H rank(A)=r, W A PMEE s 1707 H—FE
AT r+ s —m BIFERE.



5. BEPAMERE

o1 Qo o (7%
(e 71 (e . o (7%
A= 7B = /31 62 e 571 ,
(@ By - ﬁn>
Wl 72 tet ’yn

WP B o SR ELPTRES I LITTER 2 A M1 B A SRR 2%
G
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6. & A B 2HEEI R L s xn,l xm 5, EH:

(1) R rank(A)=s,rank(B)=l, T4
rank (A C) = rank(A) + rank(B).
0 B

(2) WH rank(A)=n,rank(B)=m, B4

A C
rank (0 B) = rank(A) + rank(B).



